Duestion 3 [ Unit TR
Congider the following two Triese patterns. 3, and T,

DDRPE?

Ty

Ta

{Three of the semicircular wotifs in each pattern are labelled I, 2 amd 33 these
labels are for reference only and are nat part of the frieze patterns. )

(a} For each of the ahowe patterns, give a goometric deseription of that symmetry
of the pattern which maps semicirele 1 to semicircle 2, and also of that which
maps semicircle 1 to semicivele 3,

by {i)  Apply the algarithm given in Section 4 of Usit IRS to determine 1l Eype
of each pattern. State clearly how you have used each step that applies.

(ii) Express each of the four symuvietrios that you found in part (a), in the
standard form for its pattern type as identified in part {b){i}. In each
case, take as origin the intersection of the et line of the frime with
the (vertical} diameter of semicircle 1.

() Trace or photocopy patterns F1-and Ty, and add extra lines or ares Lo each Hi
that:

(i} pattern ) becomes a frieze pattern of Type 1;
i) pattern Fa becomes a frieze pattern of Type 6.
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